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MATEMATIKA 9

DIDAKTICKY TEST — ZAZNAMOVY ARCH STRANA 1-2/3

1.1 Uvedte postup feseni
11 1
[7— (-3)]: (3 -3:8) = (-32+1) (-2) =
11

— 10: (g—g) —(=32+02)-(=2)=10:1—(-3)-(=2) = 10— 6 = 4

1.2 Uvedte postup feseni

V52 —32 40,52 —v/16 =v25—-9+ 0,25 — 4 =16 + 0,25 — 4 = 0,25

—-964+98=2

3.1 Uvedte cely postup reseni

3(x—2) (x+2) +16 — - (3x — 6)? =

1
=3(x2—4)+16—§-(9x2—36x+36)=3x2—12+16—(x2—4x+4)=2x2+4x

3.2 Uvedte cely postup reseni

4z(z—-3)+ (z+6)* =

= 472 —12z+ 2>+ 122+ 36 =5z% + 36
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75 + 5(x — 4) = 3(5 — x)

75+ 5x — 20 =15 — 3x

1
—x—3y=-1 /-2
2%~ 3y /

03x+y=5 /10
x—6y=-2
3x + 10y = 50
 x=6y-2
3(6y —2)+ 10y =50
18y — 6+ 10y = 50
28y =56

y=2, x=10
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